Losungen — Langfristice HA

Lineare Funktionen

a) x0=05 b)xo=-2 c)xo=4 d)xo=-24 e)xo=2
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3. f1: y=2x £ y=-3x+2 f3:y=3 f4:y=§x—l,5 f5:y=—gx+2

Quadratische Funktionen

1. a)S(-1/-1)  b) S(2/-4) c) S(-3/0) d) S(1/-4) e) S(-2/-1) 1) S(-4/0) g) S(2,5/2)
h) S(-2/-4)
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2. a) S(-2/0) b) S(2/-3) c) S(1,5/-6) d) S(-3/-3,5)
X1/2:—2 X1:3,7 X1:3,9 X1 =- 1,1
X2 = 0,3 X2 =- 0,9 Xy = - 4,9
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a) y=x2+4x+4 b)y=x2-4x +1 c)y=x%2-3x-3,75
X1/2=—2 i\/4—4 X1/2=2i\/4— 1 X112 = 1,5i\/2,25+3,75
Xip=-2+V0 Xip=2%+V3 xip=1,5+V6
X1pn = -2 X1 = 3,7 X1 = 3,9

Xy = 0,3 X2 = —0,9

d) y=x2+6x+5,5
X1/2:—3i 9—5,5

Xip=-3 i\/3,_5

X1=—1,1 X2=—4,9



xX2-10x+25=x2-2x+1 /-x2

-10x +25=-2x+1 /[ +2x-25
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Xx =3
y=(x-5p
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X2+ 5 +6,25=x2-3x+2,25 /-x2

9)
5x + 6,25 =-3x+2,25 /+3x -6,25
8x = -4 /:8
x=-0,5

P(-0,5/4) y=x2-3x+225

y=025+15+2,25

y=4 P(-0,5/4)
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a) S(1,8/-4)
b) y=x2-3,6x-0,76

0=x2-3,6x-0,76

xip = 1,8 /3,24 + 0,76
xip= 1,8 +2
Xx1=3,8 x,=-0,2

c) q=+3,24




2. Ty b) 0=x2-2x-3

31 xip=1+v1+3
dl X1=3 X2=—1

B(2/-3) y=-3

| S(1(-4)
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d) sieche Diagramm

Quadratische Gleichungen

1. a)x1/2=—4iv16—7 X1=—1 X2=—7
b) X1/2=—1i\/1+3 X1=1 X2=—3
C) X1/2:2,5i 6,25+24 X1:8 X2:—3

d) x2+6x-16=0 x;p=-3+V9+16 x;=2 X, =-8
e) x242x-8=0 x;p=-1+V1+38 X; =2 X, =-4
f) x2-4x-5=0 x;p=2+V4+5 X =5 Xy =-1
g) xX2+10x-24=0x;p=-5+V25+24 x,=2 Xy =-12
2. 2a+2b=70
a-b=286 — a=>-
286

— 2-T+2b=70 /-b
572 +2b2=70b

0=2b2-70b+572 /:2
0=Db2-35b + 286

bip=17,5 £4/306,25 — 286

b =22 b, =13 Die Halle ist 22 m lang und 13 m breit.

3. a-b=69000

a+70=b — a-(a+70)=69000
a2 + 70a = 69000
a2+ 70a— 69000 =0
ayp=-35 +/1225 + 69000
a1 =230 a,=-300 entfillt
b=a+70
b =300

Das Grundstiick ist 300 m lang und 230 m breit.




